Area of tilted square = 


Total area enclosed – area of 4 unwanted triangles =

(n + b) ²  – 4 x 1(2 nb 







(n + b) ²  =  n² + 2nb + b²
 x         n        b
    

   n    n²      nb 

  b    nb      b²
Area of tilted square =

n² + 2nb + b² – 2nb =

n² + b²

eg. if the square is 5 dots across and 2 dots up, 

the area of the square will be 29, 

because the 5 across is squared, 

and the 2 up is squared,

and 25 + 4 is 29.

Here is the equation for the area of any square which is n across and 2 up.

(n + 2) ²  – 4n =  

n² + 4n + 4 – 4n = 

n² + 4
b
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